Week 1: Easier - Y7 to Y9 only
Factors

Around each of the hexagons are three

upright triangles.
/@ The numbers in the triangles are chosen
12 A | from 2, 3,4, 5, 6 or 7 (they can repeat!)
4 4 ﬁ 1 47 The numbers in the triangles around each
36 A 2Bn 2 hexagon multiply together to give the
- N number in the hexagon.
9 1 68 Fill in the empty triangles and the central
/ X120 OF—amaw’ hexagon.
—~amy’ 100 9F— ¢ - A
' All answers should be submitted to Mrs Uff by close of play
A, B Friday 24th April with your name, your tutor base, your

house and a fully worked Mathematical solution.
= Good Luck!




